
ASTON

-131138

JCBC BOLT M6 X 50MM (BLK)

SPRING WASHER 5/16'' (BLK)

ALLEN KEY M4

JCBC BOLT M6 X 40MM (BLK)

SCREW PIN

     4

(+1 extra)

1

TABLE TOP

1

1

ITEM
ITEM PHOTO

PHOTO PART NAME
QTY

QTY

HARDWARE NAME

A

B

C

D

F

1

2

     7

(+1 extra)

     11

(+2 extra)

     4

(+1 extra)

TABLE LEG L/R 2

3 SHELVE BIG

R

L

E

     4

(+1 extra)

WOOD DOWEL M10 x 30

4

SHELVE SMALL

1



ASTON

-131138

E

C

B

F

3

4

D

C

F

A

L

R

2

2

B

C

F

1


